Calculus II - Spring 2014

Quiz #2, February 26, 2014

In the following problems you are required to show all your work and provide the necessary explanations every-
where to get full credit.

1. Determine whether the improper integral converges and, if so, evaluate it.
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The integral / mdw is divergent by the p-test, since p = —1/2 < 1.

1

0

(b) / 2e du

Solution (version 1): We have
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Solution (version 1): We first note that
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Solution (version 2): We have
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Note that / 4d:17 is divergent by the p-test, since p = 4/5 < 1. Therefore the integral /
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diverges.



